Algebre Relationnelle

(1) mvuNomu,vite(U) ou U
(2) OVille=' Londres’ (U)

(3) Solution complete : myp(oyy=ianp=1(PUF))

a < O'szl(PUF)
b «— 0NU:1<a)

C < WNF(b)
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(4) Solution complete : Tnomp,.couteunr (P Xnp=np onp=1(PUF))

a < UNF:l(PUF)
b <— P NNP:NP (CL)
C < 7TNomP,C’ouleur(b)
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(5) Solution complete : Ty p(ony=1(PUF) Xyp_np OCouteur'Rouge' (P))

a < UC’OUZeur:’Rouge’(-P)
b(—O’NU:l(PUF)

c bXyp_npa

d <+ WNF(C)
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(6) Solution COmpléte : 7TNomF(F*PUF*UC’ouleur:’Rouge’(P) *TNU (UVille:’Londres’VVille:’Paris/(U)))

a < UVille:’Londres’\/Ville:’Paris’(U)
b« mnu(a)

C < UCouleuT:’Rouge’(P)
d<— FxPUF xc%b

e < Tg
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(7) Solution complete : myp(PUF * F x U)

a+ PUF«xFxU
b(—?TNp(a)
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ou autre solution : WNP((PUF MNF:NF F) MNU:NU/\Ville:Ville U)

a4+ PUF WNyp_np F
b+ a Xyy_nuavite=viie (U)
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(8) Solution complete : mnyp(PUF * ovije—sLondres' (F) * U)

a < UVille:/Londres’(F)
b+ PUF xaxU

C < WNp(b)
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(9) Solution complete : myy(mTnpnv(PUF) — nnpnu (U * F))

a < WNF’NU(PUF)
b« WNF,NU(U* F)
c <+ mny(a—0)
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(10) Solution complete : mxp(ony=1(PUF)) N wnp(ony=2(PUF))

(11) Solution complete : mny(mnp(onp=3(PUF)) Xyp_np PUF)

a <—0NU:2(PUF)
b+ WNP(G)

C < bMNP:NP PUF
d <+ 7TNU(C>

(12) Solution compléte : WNP(P) — WNP(UPoids>P2(P X Oépoids:pg(ﬂ'poidS(P))))

a < 71'Poials(P)

b+ P x aPoids:P2<a>
C 4= Opoids>p2(b)

d <+ WNP(C)

e < WNP(P)
fe—d



